
CLA SS XI CHAPTER: CONIC SECTIONC 

EXERCISE 11 
neadh of exevcises 1t6 und the Coordmalu o feti, 

yef tices, he eccenbieily and lengh o Lakus Rechem 

f he hyperbolas 

T eadh

No 1 
16 

The ven er of hporbola o 

eand b 
2 and b3 

a+ C: JI6 + 25 
focr ae (5,) : focr are (tC,)

Verice ae (,o) ie (t4,) 
Eceenreey e: 5 

LengthoLais Rectum 2 . 
GN 2 

27 

Gwen 7 Ean 1s 

a1 and b. 27 
a 3 

C9t 27 C36 C 
oc ae , +0) 1 (o, +0) 

Vel lica anto a) ie (o, + 3) 

Ecceelsecil e 2 
Length Lalk Roac tim2b X27- J8. 

3 



ONo3 9 4x36 
The equaion erbs iu -41x':36 S 

OY 

4 and b 1 

2 and b = 3 

C 4b = t9: 13 
Feci ae (o, tc) je (o, tJB) and Vevlices aie (, t) i l9+9 

Ececascty e 
Lenglh olalas Reclum 2.9 -1. 

&No4 6X 1 576 
Sol Iven eq 1x-19*-576 

36 
+efe 36 6 

and b4 b 8 

oc afe 
Vestices art ( +9,0) le (t6, o) 

, e (t10,0) 

Ecenricily e 
Length s Letus Reetam 2b, AXs- 64 

GN S 5 36 

So ven eg 51 36 S1- OY 
36 

- X2 

3/5 
OY 

JS 

and b 4 b 2 

2J C. 44 20 



foc at (9, +) i, t 2 J1 

Verhce are (o, ta) 1e (o+ 
Cceenlereily e: 2J 

JS 

Length Lolus Pectm 

4116.784 
Vey=n is 411-16x 784 OY -* 

2h 2xxJS 
No 6 

6 
-16 nd b 41 

4 and b: 7 

C a+8 

fot ae o, +c)- (o, t165)
Verfices are (o, +a) te (o,t 

Eccentrcily e 
4 

Length o Latus Keetun x1 42 
n each o exercseem7to |5 d he equaion

Porahola Salhith the AvenCendlions. 

Vertice(+2,0) oci (t 3,0) CNo7 

Sol Snu toc a - au 
ta hyRecbela oo (D 

Since Nerlices aret2,0 

q- 4 
ocr e+3,) 
C 3 c9 

Now 

som -

sheh s 01sed cqn 



Vesice(o,t5) fc0, +8 ONo 8 

incefec are on 

sea hpebeta s of fm (y Ey o 
Sn Vetic e ate (o,+5) 

Atse toet are o, +8) 
C 8 c64 

Cat6 64 25 + b39 
fse 

2s3 Nhich s agd en o hAocbcla.- 

Foci (t5o) the tonsyerse axis is olength8
39 

No lo 

So SiMcehe toc qre on -axXu 

'En ofhHporbola Is ofos m - I (a 
For are (5,0) 

C 5 C23 
Also length o ansve rse axis : 8 

e 2a 8 a:-. 
25 16+b b 9 

(1 2- 

s 0ised e 
Verfices (o, +3)toc(o,t5) 

Santobci ae o -aXu 
hRarbeda

Sinto Vefices Qre (d, t3) 
3 1 

Als0bei (0, t5) 7C5 c25 
M c a+6 25 +b b 16 

Ithich

CN9 
Sol. 

m 

Kem (1) 6 



No Focr o +13) the congat axi o let 24. 
foc a n -ax S 

E hapcbela s %m En 
oC avt0 t13) 

13 c16 

Alsoength o Con9ata axS = 24. 

2b 2 b12 144 

69 aA144 > a 25 ow 

shich is sequitd en 
14 No 2 

oc t35,o) the latus secbum oengw 
Smce OC art on x-axisSo 

Eqn haposbo la is of the fom - -(1) Eqn a2 

focr avt (ta3,0) 

C45 
Also Lengh lais sebum 

C 35 

e 2b2 4a. 

45 a+ 4 

(a+1) (a-s) o a 1, 

Ryeeln Kjee ling -1 4 a can nel be nezaive

an b- 449- xS 2 

35 

khich S «guKed en 
Foer (t4, he atus rectuom is ent la 

nceoc ox ov - aXIU 

oa h poc 



Alse lengh Lal Reolivn-12 
2 12 b6 

No ca4b 16 = q+6. 
a+69 -16 = o 

:8 2 a+8) Ca-a) o 

Reecing -8 5 Can nol be megaive. 

a- 2 a4 
so b 6a 6x2 

.Kem -:l 09c e 
No- 14 Verticee ar (t7,0). e 

Sol SrCe he verices ave om -aX Snc 
:Ean hparbela s - - (y 

Vorlices art (t7,o)
7 a 49 

xa*7-Nou e- C 
a 

Now catb 
b 184 -40 184-44) 343 

9 34 18 49 + 
9 

cem ( 
A9 53 

O 
343 

1Nhch U oqulveel equalion. 

GNo IS Foi tJro pass inthlens e,3) 
Sinaocr ae om axis Sol 

Eqa lien hperbola is ocm 



fori Co +Jo) 

2 

Also Since hyrorbila passeshrough3,3) 

4 
o-q 

uS 

90-9a40 a(lo-a 
4 a1 234 +90 0 (a-18)(a-5)o 

a 18, 5 
b- lo-q2 

hen 18 -10 18 -8 which is nol pottble 
Now 

a5 hd b= l0-5 5 

som (1 

hich 1s se9sed em 
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